EARAZROREIERT — 2 N—XBISY —F 2013511828 () 10EE%I5H

@ Cc20 c20O #5%—# B R
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=« IR EES : ~5-4- — RAKX (BFH)
1B 3| 7X/ 75> R 1 1'(2_8)'5 A ’ (4_353; REE—
L:¥x>r77A-U72 B:van)-X (A e ]
3= s i 4 | KBRKE 1:29.6 3222 |41.7| — 5 | 450 |EEfE= ()
ol5l5|7T3—%1> 540 © Gy | EEE
L:wiNnNygLhTr B:vyXx—T71FKIL N5
4 3 | BllIEGA 1:29.7 1-1-1-3 | 41.9| - 1 420 | BAAREE (&)
sl T7F¥21—R&— 53.0 (3/8) -7) /\K?Eiﬁ
LT RIA YT vy BiFLSERA EIR= S
IS o6 | AR 1:29.7 2-2-2-5 |41.8| — 2 455 | BfR— (SH0)
4(8/8|/N=>a 54.0 (7E) (g | A
L:TANVRTy Y2 B4y FE—X HBITr—L
N AR :30. —~7-6- . — RIFFET] (SH)
5 0| TN R 6 z= 1(330)3 7-7-6-5 | 41.9 8 (4_427) Eéﬁ@
L:Hrsa—-LiL B4 /- N7 7 — L
7 j LERE :30. -6-6- 1 = Hepfd— (R
6lzl 7|77 tasLa o4 o 1(310)5 6-6-6-7 | 42.1 7 (4_2;) i
L:hTA4=>9 B:FH4 2Oy F R E
47 | EFRNE 1:30.5 8-8-6-8 |41.9| — 6 444 | REA (BH)
] 4lER)=T> 56.0 ) ) B A
RiZa—42 972K BivFIE INT IS
I L. 4 3 | BURFEZR 1:31.0 3-4-5-4 | 42.9| — 4 415 | BURFEE (BH)
81112 v 771X ¥¢52.0 2 1/2) “1) IR REST
RYIRG4 972 B9 RKhA—=L A 85
@ 1—F—@&BIEf
13=zr= 6,8,(1,5),3,7,2,4
20—F— 6,(5,8),1,3,7,2,4
G§a=7r= 6,(5,8),3,1,(2,4,7)
43—+ — 3,5,6,1,(2,8),7,4
[ RN
B OB 3 650 714K 3-5 500M B E 3-5 2,280M &R 3-5-6 640M
8 B 3 120/ 3-6 150 B H 955 3,930 JEH 3-5-6 8,770/
5 190 5-6 280M
6 110

ABICOVWTRDTEEERROODE. TR LIV,



